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(i) wi wgw afard ¥

(i) 97 #95 1 & 4 7 I 9eT ¥ | Uds W & e 1 (o) of Pruifa ki
(iil) 99 #97% S ¥ 22 W% ¥ Iwi® 9w g ™ ¥

(iv) Wes 957 & fog omefed e 3°% wwf@ oifka &

(V) 999 ®9® 5 ¥ 16 9% TS WS & SuC ama 30 s ¥ A

(vi) 99T ®Hi® 17 ¥ 19 9% Y& W9 & Sax & 75 g o afw

(vii) W7 HHiB 20 § 22 9% YIS WA & SO amm 120 s § Afvrg
(viii) T8l T9U® ¥, WW U AWiRed fOF FRY |

Instructions :

(i) All questions are compulsory.
(i) Question Nos. 1 to 4 are objective type questions.
Each question carries 1 (one) mark.

(iii) Internal options are given in question nos. 5 to 22.

(iv) Marks of each question are indicated against it.

(v) Answer question nos. 5 to 16 in about 30 words each.
(vi) Answer question nos. 17 to 19 in about 75 words each.
(vii) Answer question nos. 20 to 22 in about 120 words each.
(viii)Draw neat and clean labelled diagram wherever required.
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7 R gadt Rt 1x8=8
(i) ¥feagn otz & =@ & @ e fea wer #r afufear 27

(31) Fosidl arfufeean (@) womEd sitfmar

(@) SerEEm s (z) Ytam afufear
(i) =gsd TU BH @ o wefifa 9w s e

(o1) feege <merenen (@) a=an

(®) W (3) omETEHERE
(iii) y99= & wiear & & —

(&) SwEgTH (@) orwEmA

(@) e (x) orsT
(iv) omar ® Fea fafy & @ o9 e &7

(&) HFe (@ @R g

(@ fEavsa (®) wg@TsA
(v) w9ad <o & wree gt dd ¥ -

(31) +1 ¥ @ -1 &

® 2 &% (@) o=
(vi) Wiy & a9 wfr & -

(a1) aEe | (@ ==

(@) ofem (8) TR
(vii) fae St @& gife S9t ¥ soed amn g ¥ o

(a1) onfrex (@ g

(@) =R (@) AR
(vii)u®s ufes ¥ grg & -

() v | (@) T

(@) wrewerd (z) waterd
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(vi) The unit of resistance is called -

Choose and write the correct alternative

(1) What type of reaction is the reaction of calcium oxide with water 2

(a) endothermic reaction

(¢) neutralization reaction

(b) exothermic reaction

(1) Which property is not exhibited by metals ?

(a) electrical conductivity

(c) bnttleness

(1) The process of respiration is :

(a) oxidation

(c) excretion

(iv) Which reproduction method occurs in Amoeba ?

(a) budding

(¢) binary fission

(v) The focal length of the plane mirror is —

(a) + 1 cm

(c) 2cm

(a) wvolt

(¢) ohms

(vil) A device used to convert electrical energy in to mechanical energy -

(a) ammeter

(¢) motor

(viii) There is human in an ecosystem -

(a) producer

(¢) carnivorous
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(d) redox reaction
(b) ductility

(d) malleability
(b) reduction

(d) absorption
(b) by spore

(d) multiple fission
(by - 1 cm

(d) infinity

(b) watt

(d) ampere
- (b) generator

(d) galvanometer
(b) vegetarian
(d) omnivorous
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2 fag we s 1x7=7
(1) T o I SURYT AT E|

(i) A o @ & afw ugel & garm frgo @ ®Ed

(i) @R em@A & wEw " E Bl

(iv) aft v qog & oo gEt I OT W i § o 9 e HET 21
(\*)wwﬁmmﬁw | 4

(vi) aegart & W # woftafy ¥ @ e i

(vii) B zm T @ v e @ Rreed wdie e E

Fill in the blanks :

(i) _ acid is present in vinegar.

(i1) A homogeneous mixture of two or more than two ﬁjctuls is called an

(1) Testosterone hormone is secreted by the

(iv) The pollen grains of one flower are lranstt.rrr.,d to another flower.
then this process is called

(v The chromosomes are TLHPOI‘IHIblL for the male child.
(vi) We can see objects in the presence of
(vii) The deviation of aray of _ colour is maximum by the prism.
3 @ Py Ix8=8
”31” ila??
(i) va® ard (a) o oftasw
(i) ©rg (b) fmgm
(i11) SEe (c) wasr fagror
(iv) wmex iy (d) @ |
(V) W& e () HCl «
(vi) Hvgm () o,
(vii) @ Y@ 9y (g) Yows
(viii) favarar (h) oqam@ & fram
(i) eomm
Match the column : s
A" "B
(1)  Strong acid (a) Water @ansport
(1) Metal (b) Pituitary’
(n1) Xylem (c) Light ray
(1v) Master gland (d) Volt
(v) Female hormone (e) HCI
(vi) Mendel (f) estrogen
(vii) Straight line path (g) good conductor
(vni) Potential difference (h) Laws of genetics

(1)  Ohm's
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U aE ¥ st fofey 1x7=7

(1) A sfwlerad fd afensl & du gae & amem wem g E o e ¥?

(i) wfews B B T W, G, Y, T@ onfy F fg Rl ¥ 7

(|]]Wﬁwmﬁﬁm%p [‘_

(iv) Pre o8 & ®ieg gl | frer & Sud awar fead a7

(v) @ & ¢ fF @@ & dha @1 BeRa @ oy @ @ @ g 20

(vi) @ agayfeE ¥ feed e @ ¥7

(Vi) f&gﬁvﬁqmﬁagqmammwfsmﬁﬁaﬁhﬂﬁrﬂgwaﬁm
q‘éﬁt{ﬂ‘rgﬁﬁ%? <

Write the answers in one sentence each :

(i)  The reactions in which there i1s an egchange of ions between the reactants

are called ? N
(i)  Which part of the brain is specialized for thinking, hearing, smelling,
seeing etc ?

(iii) From where does the embryo gegiwtrltlon"

(iv) What will be the power of a leﬁslwh(}se focal length is 1 meter ?

(v) What is the reason that the danger &xgnal or signal light is red in colour ?

(vi) How many watts are there in Or@;horsepower?

(vii) The most important device for protection against damage due to short
circuit or overloading is ?

dercn 58 wed 7 g Wik awe 2
What is corrosion ? Describe with cx&ﬁple
yar /SOR
S wafa e BT A R
fiie + aergfe ora — e wehe + wEgee
Write the following word-equation to balanced chemical equation :
Zinc + Sulphuric acid — Zinc @ﬂ]phate + Hydrogen
FTEE Ud g & o gagul ; 2
Explain the meaning of malleability afd ductility.
s /OR
A gl & AW ARy W oyl ¥ o o A W AW ¥

Name two metals which are found in nature in the free state.

aq Ue awga s AR@ B daw TH - 0F e fafee 2

Write only one example of each saturated and unsaturated carbon. compound.
sy / OR

yERleE wE Ueess U4 e N B S99 UH-Uh IEE g

Write only one example of cach functional group aldehyde and carboxylic acid.
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8§ Uiyl Hogww & feaaty @ haw TEEtE g fatan 2

Write only the chemical equation of photosynthesis process.
dq@ / OR

fregr) droor BRY ®ed ¢ TS SEmew Wi A

What is heterotrophic nutrition 7 Give an example 100.

9 gEeIvEd & ufoaf i
Define the regeneration.
vy / OR

Fifte g ey aed ¥7

Which is called vegetative propagation ?

10 77s & Torge & we R wd ¥ 7 afeen vd gew & O # N AT E 2
What is the total number of chromosomes in human ? What is the difference
between Female and Male chromosomes ?

@ / OR
Yew ¥ wA ® B UM O Rp RS @aw @as w9 6 e B f
Ly

How do Mendel's experiments show that traits are inherited independently

11 fyoua o9 6 &ed ¥7 2
What is a biconvex lens called ?
Fgar / OR

Faaw AU F B A eFwEm faRaw)

Write any two applications of concave mirror.

12 wﬁéwsrﬁﬁwwmmﬁﬁmwﬁuﬁmamﬂ%aawﬁm%? 2
What happens when a light ray enters denser medium to rarer medium *
sy / OR
w smaf O @EA @de 9T 30° 1 SGAH B A Al TG B H

qE F T OB
Incident ray makes an angle of incidence of 30° on a plane mirror then
what will be the value of the angle of reflection ?

13 fga umo @& ofonfya @) saer 1 AEe @@ Ee 2
Define electric current. What is its SI unit ?
syt / OR

forea WO & fore o R @ arg % ard @ Swan R A E ¢

Which two metal wires are generally used for transmission of clectricity ?
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15

16

17

18
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Define the electromagnetic induction,
Jyar / OR

et fage oftow & wgues @8 @ b2

When does short circuit occur in an electric circuit ?

T TR &9 W@ UF g B ghwee w®@ o sl 7
Why don't two magnetic field lines intersect each other ?

s / OR
mmﬁﬁ@wﬁﬁﬁﬁmﬁﬁgﬁﬁaﬂwmt?wfﬂﬂﬁm
W amufa ¥?

What is the device that converts mechanjcal energy in to electrical energy
called ? It is based on which phenomenon ?

w@mmﬁmwﬁﬁﬁﬂwmm%mm
fofiau

Write only names of various tl‘Opth level living organisms of food chain
in any one ecosystem. https://www.mpboardonline.com

w7 / OR
waferst yoit R s €7

Which is called omnivorous animals ?

gagy sfifear B w8 ¥? T wewEe fafag
What is precipitation reaction called ? Write an example.
dgar / OR

m%ﬁmaﬁaﬁﬁaﬁmﬁmﬂﬁﬁm’rqﬁ%?ml
Why do fill the bag of potato chips with nitrogen gas ? Explain.

T AR & @ A9 e faRa)

Write any three functions of human brain.
dya / OR

T ¥ a9 el e AR sierdl TRt & A @ T i s

& W fafau) .

Write the name of any three endocrine glands found in human and also write

its secreting hormone name.
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19 a fawen f5q w3 ¥ 7 foaa gm0 awema) 3
What is called the colour dispersion ? Explain with diagram.
“3 [ OR
Qo A Fw T Aen & ﬁ'@# T k7

Why does the colour of the cbhr sky appear blue ?

20 9 vg uftadT F w49 gw Rew R A 27 TEw b9 ww o waar 37 4
How does tooth decay occur dhie to pH change ? How to prevent this ?

f{ﬂ!ﬁ'l / OR
Freafifaa & @121 Judm fafgo <
(i) A% = (i) frtom oot
(iii) @z e fm S (iv) 4R @ wwE
Write two uses of each of lh;'follm\-ing :
(1) Baking soda 7 (1) Bleaching powder
(111) Plaster of Paris ’ (1in) Washing soda

:__"'_') . .
21 U O A & 6 enomesl & W svmw vd wvew gy fafaog 4
™)
Write the name, formula and steuctural formula of any tour members of
. CAD
alkane homologous series. .

“sqm / OR
UG U4 URAIEA & utWiem ®a fv om vm oEmw fafam

Define alkene and alkyne and-~give one example of cach.

22 WG & WA d¥ ¥ @@ d JWiea fag e 4
Draw a neat and clean labeltééjdiagram of human digestive system.
Swn / OR
TNE R A W@ UY Amited R @ wRad
Draw a neat and clean labelled diagram of human heart.
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